) ot /- 4

Racing Screers

TOURING WINDSHIELD FOR

Ref.: 9392

1 person 20 min
DESCRIPTION QTY.
1 Touring windshield 1
2 Right suport (R) 1
3 Left suport (L) 1
4 @DDD M5X11 @11 1507380 Allen screw 4
5 M5x1 nylon washer 4
6 Q M5 1SO 7380 screw cap 4
7 Special screw M5x15+interior thread M5x10 Hexagonal lenght 14mm 4
8 0 M5 silentblock 4
9 gy, Tornillo Allen M5X15 @11 1507380 4

Pg. 1/2


https://www.motorcycleid.com/puig/

) ot /- 4

Racing Screers

TOURING WINDSHIELD FOR

MOUNTING INSTRUCTIONS



https://www.motorcycleid.com/windshields-fairings.html

